VCE & PDF https://www.passapply.com/1z0-811.html
2024 Latest passapply 170-811 PDF and VCE dumps Download

PassApply.com

170-81109%As

Java Foundations

Pass Oracle 1Z0-811 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-811.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-811 Dumps | 120-811 Practice Test | 1Z0-811 Exam Questions 1/7


https://www.passapply.com/1z0-811.html
https://www.passapply.com/1z0-811.html
https://www.passapply.com/1z0-811.html

VCE & PDF https://www.passapply.com/1z0-811.html
2024 Latest passapply 170-811 PDF and VCE dumps Download

QUESTION 1

1 import java.util.®*;

Z 1import jova.io.*;

3 import java.lang.Thread;

4 import jova.util.Arraylist;
5 1import jova.util.linkedlist;
6 import java.util.list;

7

8 - public class Test |{

9

10~ public static void main(String[] args) {
14 boolean checkOut = true;
12 int days = @;

13 - while (checkOut) {

14 days++;

15~ if C(days = 33 {

16 checkOut = false:
17 T

18 }

19 System.out.print(days);
28 }
21 3}

JDK 11.0.4 w

CommandLine Arguments

Result
CPU Time: 0.16 sec(s), Memory: 30068 kilobyte(s)

Identify two Java reserved words.
A. array
B. true

C. this
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D. exception
E. string
Correct Answer: BC

Reference: https://www.computerhope.com/jargon/j/java_reserved_words.htm

QUESTION 2

Given:

public class TestFinal |
final int 1 = 5;
static wvoid modify (TaestFinal test) {
test.1l = 99;

}

public static woid main (String [] args) f{
final TestFinal tf = new TestFinal ():;
modify (tf):;
Syslem.oul.prinldno (LLC.1) 7

What is the result?

A. A compilation error occurs in the modify method.
B. 99

C.5

D. A compilation error occurs in the main method.

Correct Answer: D

QUESTION 3
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13 -~ public class App {
14~ public static void main (String[] args) {

15 5tring s= "Helle Java";

16 System.out.println (s.length(}};
1 s.concat ("SEE");

18 System.out.println (s.length {}J;
19 }

28

21 }

JDK 11.0.4 b

CommandLine Arguments

Result
CPU Time: 0.14 sec(s), Memory: 30272 kilobyte(s)

18

1@

Given the code fragment:

public static void mainiString[] args) {

int[] arr = {10, 0};

Ertsy =)

try f{

int answer = arr[i] / arr[i + 1];

} catch (Exception e) {

System.out.println (“Unknown issues.”);

} catch (ArithmeticException ae) {
System.out.princln(™lnvalid divisor.”):;

What is the result?

A. Unknown issues. Invalid divisor.
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B. Unknown issues.
C. Invalid divisor.
D. A compilation error occurs.

Correct Answer: D

13 ~ public class App {
14~ public static void main (S5tring[] args) {

15 int[] arr = {18, @};
16 int 1 = @;
17 ~ try {
18 int answer = arr[i] / arr[i + 1];
19 - } catch (Exception e) {
28 System.out.println"Unknown issues.”);
21
i } catch CArithmeticException ae) {
23 System,out.println{"Invalid diviser.");
24 1
£5 I
26
S B
JDK 11.0.4 v Interactiy

CommandLine Arguments

esult
PU Time: sec(s), Memory: kilobyte(s)

/App.java:22: error: exception ArithmeticException has already been caught

} catch (ArithmeticException ac) |
M

1 error

QUESTION 4

Given:
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public class Test {
int varil; // line nl
public static void main (String[] args) {

int wvar?; // line n2
Test ob] = new Testi():
int var3 = var2 + obj.varl;

System.out.println{var3):;

What is the result?

A. Compilation fails. To make it compile, replace line n1 with varl = 0;
B. Compilation fails. To make it compile, replace line n2 with var2 = 0;
c.o0

D. Nothing is printed.

Correct Answer: B

QUESTION 5

Given the code fragment:

int a = 3;
a = ++a + at+;
a=-—a — a—;

System.out.println (a);

What is the output?

A.8

B.3

C.0

D. A compilation error occurs.

Correct Answer: C
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15 - public class Test {

16 - public static void main (String[] args) {
17 int a = 3;

18 a = ++0 + 0++;

19 a=--a- ag--;

28 System.out.println (a);

21 ¥

22

23 1}

DK 1.0.4 '

CommandLine Arguments

Result
CPU Time: 0.15 sec(s), Memory: 30492 kilobyte(s)
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